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PROJECT ENGINEERING

Froffa @ : 35 [Ffreha 3% : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () TA-EHATIEAE T HE

Note : There are THREE sections in the paper A, B and C.

(ii) GFTCH FITGEIT1 3 G 10 771 & IR 7T | TP 5T U 375 T 8 v
410 977 TGAE IHR & To71 & & /

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QFIT & > 8 T 4 @ [T 6 F99 & IR G | I9F F9T 3 3 FT & wq
$THI 5 TIET / 50 ¥eG) 4 I T |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) BT F 6 397 5 @ 1567 4 397 & IR G | TAF T97 8 37 BT & 0
57T 15 @57 / 150 ¥eg] 7 Fov &g |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) I&F QI S GH T D] HHER T T 5T FHoTT |

Solve all the questions of a section consecutively together.
(vi) 1 qTIsT 7 3R g7 F1 a7 s srgere 8 W 8

Only English version is valid in case of difference in both the languages.

YRA -1
Section — A
1. () Te=faRea a3 = a1 e W AR sl 9T ST g ?
(a) =M Y IueTsura (b) 38 FI IuTsAT
(c) TooTett <t SucTsurar (d) o Teft
Which of the following factors affects plant location ?
(a) Awvailability of labour (b) Awvailability of fuel
(c) Availability of power (d) All of these

(10f4) P.T.O.
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(i) T ST H W9 I §5d A Q@ (3= Faid) 9% b 2
(a) (b) TrmrEd
(c) HAEIRIH (d) IR
Expanding steam to a very low pressure (high vacuum) in steam engines is
(a) desirable (b) economical
(c) essential (d) uneconomical
(iii) TH kWh it % g B
(a) 10007 (b) 360kJ
(c) 3600KkJ (d) 3600 kW/sec.
One kilowatt-hour energy is equivalent to
(a) 1000] (b) 360kJ
(c) 3600KkJ (d) 3600 kW/sec.
(iv) T Tenes foeemo g | e faearfia Blar @ ¢
(a sd (b) A=A
(¢) T (d) dmEEE
In a positive displacement pump, what gets displaced ?
(@) Fluid (b) Volume
(c) Pressure (d) Temperature
(v) TR STeTehRdl % SYcshH i % FI H AT AR |
(@) T =TeTehal (b) wag wfey
(c) Tafsrs =mereman (d) T wfaershan
The reciprocal of thermal conductivity is known as :
(@) Thermal conductance (b) Surface resistance
(¢) Specific conductance (d) Thermal resistivity
(vi) TeI-3 <1 TUHT o TTT 3TTawersh 2 |
(a) FAAH (b) o foxfi feufa
(c) A (d) TIPS TE
Depreciation is necessary to calculate :
(a) Net profit (b) Net financial position
(¢) Tax (d) None of the above

(vii) Heft-Tan fafyr d gou-5m o1 am

(a) Y% Y TR | (b) YT TR |
(c) wefiawidfRREars | (d) maﬁm-aamsﬁm%n

In straight line method, the amount of depreciation
(a) increases every year (b) decreases every year
(c) constant for all the years (d) fluctuates every year



CH6001 G of 4)

(viti) S 3o folg T BT 8
(a) ™ (b) ™
ORECEERT (d) ¥ Y HIg T
At Break even point there is
(a) Profit (b) Loss
(c) No profit no loss (d) None of these
(ix) Tr=faRea 4@ o= o wiadia ara g 2
(a) o WGl

(b) = T HI hiAd
(c) 3 3 fasief & wud W v

(d) o Tl
Which of the following is (are) variable cost ?
(a) Wages of labour (b) Price of raw material

(c) Coston fuel and power used (d) All of the above

(x) 3TTCH ol ITeqhIA H ST, TG ST Fehll B |

(@) Tfvea e (b) wREd-E AT

(c) Gl (2) T (b) (d) ST § § IS Tl

The output can be increased in short run by increasing

(a) fixed cost (b) variable cost

(c) both (a) and (b) (d None of these
Qe — ot
Section — B

2. T T UL 913 o I o oI 3reredres =won & 9 e |

Write down the name of steps necessary for site selection and plant location.

3. CCOE F{RR-E 91 8 ? |Weisy |
What is CCOE clearance ? Explain.

4. urzfi festre i SravTsd =i g ?

Why is the importance of piping design is there ?

5. eerET ¥ si  a  ferfe |

Write down the formula of sum of year digit method of depreciation.
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6.

10.

11,

12

13.

14.

15.

itEda gea i & § 7
Which are the variable costs ? A3)
ATH-TF TR 7
What is Balance Sheet ? 3)
%1 AN FI1 8 7
What is Overall cost ? 3)
S o fifg o wRTYa i |
Define the Breakeven point. ; 3)
AR — i
Section — C
werre fesirga o farfirer swelien =) Rrear @ wemeg |
Explain various compressors in plant design in detail. 3
ST g < forw Afts aotd s-a @ 3 ? foream @ wHgmsU |
Which are the horizontal supports used for process vessels ? Explain in detail. 6]

T @l &1 IR 76 T 50,000 2 | wfdE A 20 W qon Siftm AT e
34,000 ? lm%3ﬁ%mwwmawéﬁa%®wﬁm
Hif |

A property has an initial value of ¥ 50,000. Service life of 20 years and final salvage
value of ¥ 4,000. Compare the depreciation calculated by straight line method and

declining balance method for initial 3 years. )
U 37132 T AT 3 ATE ) G |

Explain pay out time and cash flow. ®
mqﬁam%%qmgaaaiﬁamﬁiaﬁﬁw%msq |

Explain appropriate mechanical valves used for steam distribution in detail. ®)

T TG Y I T A1 HTEH 5 A1 R g MOEF #efit= = foream &
TS |

Write down the name of factors affecting plant location and explain MOEF clearance
in detail. )




